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B.Com. Part - III

INCOME TAX
Max.Marks : 75
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Vhi %Vhi %Vhi %Vhi %Vhi % [k.M ̂v* esa nl vfry?kwŸkjh iz'u gSa] ftUgsa gy djuk vfuok;Z gSA [k.M
^c* esa y?kwŸkjh ç'u ,oa [k.M ̂ l* esa nh?kZ mŸkjh ç'u gSaA [k.M ̂ v* dks
lcls igys gy djsaA

Note : Section 'A', containing 10 very short-answer-type questions, is compulsory.
Section 'B' consists of short-answer-type questions and Section 'C'
consists of long-answer-type questions. Section 'A' has to be solved first.

Section - 'A'

fuEukafdr vfry?kwŸkjh ç'uksa ds mŸkj ,d ;k nks okD;ksa esa nsaA
Answer the following very short-answer-type questions in one or two
sentences.     (1x10=10)

ç'u 1- djnkrk dh ifjHkk"kk nhft,A
Define the term 'Assessee'.

ç'u 2- vk;dj vf/kfu;e dh /kkjk 10 ds vUrZxr nks dj eqDr vk;sa fyf[k,A
Give any two examples of income exempted under section 10 of income
tax act.

ç'u 3- euksjatu HkŸkk D;k gS\
What is Entertainment Allowance?

ç'u 4- ekud fdjk;k D;k gS\
What is Standard Rent?

ç'u 5- lês ds O;kikj ls D;k vk'k; gS\
What do you mean by  speculative transaction?

ç'u 6- nh?kZdkyhu iwath lEifŸk D;k gS\
What is Long term Capital Asset?
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OR

osru 'kh"kZd ds vUrxZr mn~xe LFkku ij dj dkVus ds D;k izko/kku gS\ ;fn
dj u dkVk tk; rks blds D;k ifj.kke gksaxs\
What are the provisions reqarding deduction of tax at source under the
head 'salaries' ? What would be the consequences if tax is not deducted at
source?
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ç'u 7- [k.Muh; gLrkUrj.k D;k gS\
What is revocable transfer?

ç'u 8- nh?kZdkyhu iawthxr gkfu dks iwfrZ ds fy, fdrus dj fu/kkZj.k o"kksZ rd vkxs
ys tk;k tk ldrk gS\
Long term capital loss can be carried for ward to be set-off for how many
assessment years?

ç'u 9- vihysV fVªO;wuy dk dkSu lnL; gks ldrk gS\
Who an be a member of Appellate Tribunal?

ç'u 10-;fn vk; dk fjVuZ fu/kkZfjr frFkh rd nkf[kr ugh fd;k tkrk rks ml ij
fdruh Qhl nkf[kr ugh fd;k tkrk rks ml ij fdruh Qhl yxk;h
tk,xh\
If return of income is not field withen the specified limit, how much fee
shall be imposed on him?

Section - 'B'

fuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsa
Answer the following short-answer-type questions with word
limit 150-200                                                                                               (5x5=25)

ç'u 1- la{ksi esa Þekuk x;k dj nkrkß le>kb,A
Explain in brief "Deemed Assessee".

OR

Ñf"k vk; ls D;k vk'k; gS\ le>kb,A
What is Agricultural Income? Explain.

ç'u 2- oS/kkfud izksohMsaV Q.M D;k gS\ le>kb,A
What is Statutory Provident Fund? Explain.

OR

D;k ljdkjh deZpkjh dh n'kk esa xzsP;qbVh dj ;ksX; gS\ le>kb,A
Is gratuity taxable for a government employee? Explain.

ç'u 3- izkjafHkd O;;ksa dh dVkSrh le>kb,A
Explain the dedection of Preliminary Expenses.

:i;s

¼1½ osru 600000

¼2½ egaxkbZ HkŸkk  72000

¼3½ edku dk fdjk;k feyk  80000

¼4½ edku dh ejEer ds fy,] fy;s x;s _.k ij C;kt fn;k  30000

¼5½ PNB esa lkof/k tek ij C;kt feyk  54000

¼6½ mlus izekf.kr izksfoMs.V Q.M esa vius osru dk 10%

va'knku fn;k rFkk 10000 : vius thou chek ikfylh

ij izhfe;e fn;kA

¼7½ mlus psd }kjk 20000 :- Lo;a dk fpfdRlk chek

izhfe;e fn;kA

You are required to compute the net tax liability or tax refundable if any,
from the following particulars of income of an assessee for the assessment
year 2018-19 :

Rs.
(1) Salary 600000

(2) D.A.   72000

(3) Received Rent of Property   80000

(4) Interest paid on loan taken for repair of property   30000

(5) Interest received on time deposit with PNB   54000

(6) He contributed to Recognized Provident Fund @

10% of his salary and paid Rs. 10000 as premium on

his life insurance

(7) He paid medical insurance premium for self by policy

cheque Rs. 20000

ç'u 5- izR;{k djksa ds dsUæh; cksMZ vFkok vk; dj dfe'kuj ds vf/kdkjksa dk
o.kZUk dhft,A

Describe the powers of Central Board of Direct Taxes or Commissioner
of income tax.
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OR

vYidkyhu iwath ykHk dks le>kb,A
Explain short-term capital gain.

ç'u 4- /kkjk 80 th dh dVkSrh le>kb,A
Explain the dedection U/S 80 G .

OR

vk;dj vf/kfu;e esa /kkjk 80 lh D;k gS\ o.kZu dhft,A
What is section 80 C of the Income tax act? Describe.

ç'u 5- ,sls en ¼items½ fyf[k, ftu ij mn~xe LFkku ij dj laxzg fd;k tkrk gSA
Mention the items on which tax is collected at source.

OR

vfxze dj nsus dk nkf;Ro dc mRiUu gksrk gS\ le>kb,A
When does the liability to pay advance tax arise? Explain.

Section - 'C'

fuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsa
Answer the following long-answer-type questions with word
limit 300-350                                                                              (8x5=40)

ç'u 1- Þvk;dj vk; ij yxus okyk dj gS izkfIr;ksa ij yxus okyk ughAß bl
dFku dh foospuk dhft, vkSj vk; 'kCn ds izeq[k y{k.k crkb;sA
"Income tax is a tax imposed on income, not on receipts". Discuss the
statement and state main characteristics of  income.

OR

fuEukafdr lwpukvksa ds vk/kkj ij Ñf"k vk; dh x.kuk dhft, %

OR

31 ekpZ 2018 dks lekIr gksus okys o"kZ esa fe- ns'keq[k ds fofu;ksx fuEu
Fks%

(i) 7% ljdkjh izfrHkwfr;k¡ 25000
(ii) 8% vkxjk E;qfufliy ck.M 15000
(ii) 9% eqEcbZ iksVZ VªLV ck.M 20000
(iv) 7% ljdkjh ck.M 18000
(v) 6% fons'kh ljdkj dh izfrHkwfr;k¡ 15000
(vi) lqdU;k le`f) [kkrs esa C;kt tek fd;k  3000

mlus izfrHkwfr;ksa ij dj ;ksX; C;kt dks laxzghr djus ds fy, 60 :-
deh'ku dk Hkqxrku fd;kA eqacbZ iksVZ VªLV ck.M dks Ø; djus ds fy,
x, _.k ij mlus 1200 :- C;kt ds pqdk,A
vU; lk/kuksa ls vk; 'kh"kZd dh vk; dh x.kuk dhft, %
31st March 2018 consisted of the following :

(i) 7% Government Securities 25000
(ii) 8% Agra Muncipal Bonds 15000
(iii) 9% Mumbai Port Trust Bonds 20000
(iv) 7% Govt Bonds 18000
(v) 6% Securities of a foreign Govt. 15000
(vi) Intersest Credited to sukanya Samriddhi A/C   3000

He paid Rs. 60 as commission for collecting the taxble interest on
securities and Rs. 1200 as interest on loan which he had taken for the
purpose of purchasing the Mumbai Port Trust Bond. Find out his income
from other sources.

ç'u 4- dqy vk; dh x.kuk djus esa gkfu;ksa dh iwfrZ lEcU/kh izko/kkuksa dks
le>kb,A
Explain the provisions regarding set-off of losses while computing the
total income.

OR

fuEu lwpukvksa ds vk/kkj ij vki ,d djnkrk ds 'kq) dj&nkf;Ro ;k
dj okilh dh x.kuk] dj fu/kkZj.k o"kZ 2018&19 ds fy, dhft, %
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 :i;s
¼1½ vukt ds O;kikj ls vk; ¼blesa Lo;a dh Ñf"k Hkwfe ls

mits xsgw¡ dks cspus ls izkIr jkf'k 38000:- 'kkfey gS½ 1]87]500
¼2½ Ñf"k dk;ksZa ds fy, Hkwfe nsus ij fdjk;snkjksa ls izkIr

yht fdjk;k  18000
¼3½ Ñf"k mRiknu dh fcØh  48000
¼4½ Ñf"k Hkwfe ij HkwjktLo dk Hkqxrku   6000
¼5½ fctyh] flapkbZ ,oa [ksr Jfed ij O;;  10600
¼6½ cht] [kkn ,oa Ñf"k nokb;ksa dk Ø;   7500
¼7½ VSDVj dk fdjk;k ¼Ñf"k dk;ksZa ds fy,½   2500

From the following information compute agriculture income :
  Rs.

(1) Income from Grain business (including amount received
Rs. 38000 from wheat produced at own agriculture land)187500

(2) Lease rent received from land given to tenants for
agriculture operation   18000

(3) Sale of agriculture produce   48000
(4) Payment of Govt. land revenue on agricultue land     6000
(5) Expenses on power, irrigation and farm labour   10600
(6) Purchase of seeds, fertilisers and pesticides     7500
(7) Tractor hire charges (for agriculture operation)     2500

ç'u 2- dj fu/kkZj.k o"kZ 2018&2019 ds fy, fe- ekSfyd ¼tks ,d daiuh dk deZpkjh
gS½ dh osru 'kh"kZd dh dj ;ksX; vk; dh x.kuk dhft,%

¼v½ osru 5000 :- izfr ekg
¼c½ egaxkbZ HkŸkk 3500 :- izfr ekg
¼l½ euksjatu HkŸkk 1000 :- izfr ekg
¼n½ izekf.kr izkfoMsaV Q.M esa fu;ksDrk dk va'knku 7400 :- mldk Lo;a dk

va'knku 7400:-
¼M½ fuf/k ls lafpr 'ks"k ij C;kt 10% okf"kZd nj ls 10000 :-
¼³½ uxj {kfriwfrZ HkŸkk 500 :- izfr ekg
¼<½ fpfdRlk HkŸkk 1200 :- izfr ekg
¼<+½ mlds fu;ksDrk us mls ,d cM+h dkj dk;kZy; rFkk futh nksuksa dk;ksZa ds fy,

nh gSA dkj ds lHkh O;; fu;ksDrk djrk gSA
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¼p½ fu;ksDrk us mls 'kgj esa ¼tula[;k 12 yk[k½ vlqlfTtr edku dh
lqfo/kk nh gSA fu;ksDrk 500 :- izfrekg fdjk;k ysrk gS] edku dk mfpr
okf"kZd fdjk;k 30000 :- gSA
Compute taxable income under the head salary of Mr. Moulik (an
employee of a company) for the Assessment year 2018-2019 :

(a) Salary Rs. 5000 p.m.
(b) D.A. Rs. 3000 p.m.
(c) Entertainment Allowance Rs. 1000p.m.
(d) Employer's contribution to recognized provident fund Rs. 7400 . His own

contribution was Rs. 7400.
(e) Interest @ 10% p.a. on credit balance of Recognized P.F. amounted to

Rs. 10000.
(f) City Compensatory Allowance Rs. 500 p.m.
(g) Medical Allowance Rs. 1200 p.m.
(h) He has been provided with a large car for both official and personal use

employer bears all expenses of the car.
(i) He is provided an unfurnished house by the employer in a city (population

12 lakh) . The fair rental value of the house is Rs. 30000 p.a. employer
charges Rs. 500 from him per month as rent.

OR

edku lEifŸk ds okf"kZd ewY; ls vki D;k vFkZ le>rs gS\ ,sls edku dk
okf"kZd ewY; vki fdl izdkj fu/kkZfjr djssaxs tks xr o"kZ esa dqN vof/k ds fy,
[kkyh jgk gksA
What do you understand by the term Annual value of House Property?
How would you determine the annual value of a house property which
remained vacant for part of the previous year.

ç'u 3- fuEu dks le>kb;s@Explain the following :

¼1½ iwath lEifŸk;k¡
Capital Assets

¼2½ vYidkyhu iwath lEifŸk;k¡
Short term Capital Assets
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